E 54 23 £ 1 yai 7K = e B =

BEM4A i;ﬁmé%ﬂ)ﬂ?i’%?ﬁ(?:y&ﬁm

HH EETHRE|  BAL |Ek il "

kA H A.B 1.11 1.11
Al [ERKEEH FE:4r | 10:35 16:35
A2 VBKGLE - EE EE
A3 | K{E ) — i g
A4 |FKAE 10. 82 11.09
A6 |BIKIE 0.3 0.6
AT [BRIKKIE 0.1 0.1
A8 |KIE C 4.7 7.0
A9 |7kiE C 4.3 4.9
A0 |$ME - |EeFH | KBRS
Ald|BR - wE | &\E
AL5 BIRE cn 100< 100<
Bl |pH — — 7.3 7.5
B3 |cop 0.1 mg/L 1.8 2.2
B5 |DO 0.1 me/L 12.1 12.1
G2 |BE 1.0 B 1.8, 2.1
X2 [EEsx - mS/m 9.2 10. 8




Y. FR 23 &#E 2 H 4 K B R B
B K EEJUFJ RS F = > 7 5K)
b4

HEH ERTRE] B B ) I

BokA R . A. B 2.1 2.1
Al lEokEEn) BE Sy | 10:35 16:35
A2 VBEKGLE - R Pl
A3 | R - & &
A4 |7KAL m 10. 92 10. 98
A6 | B m 0.5 0.5
AT TEEKIKIR n 0.1 0.1
AS ISR C 4.3 8.3
A9 KIR T 2.8 4.5
Al0 518 — | MEfASEN | EAET
Al41ER - s R
AlS |SBILE o 100< 100<
B1 |pH — — 7.5 7.5
B3 {COD 0.1 mg/L 1.3 1.7
B5 {DO 0.1 me/L 12.7 12.6
G2 VB 1.0 E 1.0 1.1
X2 |HESE — mS/m 9.7 10.0




S B 23 = 3 H 453 7K =1 = B =
FEEF4A KHEJFIEE (F = v 78K :
H R4

EH EETEE B B M i

KA B | B.H 3.1 3.1
Al Bkl B4 | 10:35 | 16:35
A2 [EEARATE - R EE
A3 |FiE — 55l -y
A4 |7kfr m 11. 20 11.21
A6 |&okiE m 0.8 0.8
A7 BRIk m 0.2 0.2
A8 |RIR i® 9.2 11.0
A9 |7kiE °C 7.0 7.1
A10 {#128 — |WIREE | RS
Al4 B - ER \E
AlS |FBRE cm 93 100<
B1 |pH — - 7.1 7.1
B3 |COD 0.1 mg/L 2.1 2.0
B5 [DO 0.1 me/L 11.2 12.0
c2 | 1.0 E 4. 4 4.3
X2 |EE= - nS/m 7.2 7.1




R A R N S : B/ SR S U A S
T4 PV | R (F e 27 3K

Hi R4

THE EETRME BN (B Gl i

£k HH : A.H 4,19 4,19
Al [BakEEZI B4 | 10:35 16:35
A2 |$EAKGLE — AR ERE
A3 KB ~ - £ i
A {IKAT m 11. 00 11.13
AB | EKIE m 0.6 0.8
AT |BRIKKIE m 0,1 0.2
A8 |RUR T 9.0 10. 0
A9 [AKIE T 10. 8 10.4
ALO |41 ] — | BEET | BREAD
Al4|BR - ER mR
ALS | BRE cm 100< 100<
Bl |pH — — 7.3 7.3
B3 |CoD 0.1 mg/L 2.0 1.6
B5 DO 0.1 meg/L 11. 4 11.7
G2 |BE 1.0 E 2.6 1.6

X2 |[@Esm — mS/m 6.9 6.7




| S R S S kB B %

FE4L AEJ IR BB (T = v 7 57K)
R4

HE EETEREl B B vl n

kA H : H. H 5. 10 5. 10
AL [ERAk A% B : 4y | 10:35 16:35
A2 [BRAKNLE — isd R
A3 | K& — = FY
A4 |IKAE m 10. 90 11. 16
AB |2k m 0.5 0.8
AT [BRAKKIE m 0.1 0.2
A8 |5UR C 20.5 20. 0
A9 |7kiE C 16.3 18. 2
AL0 |SM — | REas | RIKEE
Al4|RE& - R e
ALS AR cn 100¢< 62
B1 |pH — — 7.2 7.3
B3 |cop 0.1 mg/L 2.1 3.4
B5 DO 0.1 mg/L 9.5 9.2
G2 | BE L0 Jicy 1.4 8.3
X2 [BEER — mS/m 7.0 8.3




I 54 23 i 6 4y 7K g R R
S ke KN (F o v 7 5K
R4

5 H EETRE| B |E & U

KA B H.H 6.7 6.7
AL |k %] B4y | 10:35 16:35
A2 [BRKALE — E5 istes
A3 [RE - = =
A4 |7kbE m 11.20 11.20
A6 | Bk m 0.7 0.7
AT [BE/KIK IR n 0.1 0.1
A8 |&UR C 20.3 19.9
A9 |7kiE °C 17.8 17.8
Al0 (518 — | REEE | YR
Al4|BR — R R
ALG BIRE cm 100< 100<
B1 [pH - — 7.5 7.5
B3 |coD 0.1 mg/L 3.0 2.4
B5 |DO 0.1 me/L 10.0 10. 1
G2 |BE 1.0 E 2.3 2.3
X2 |EER - mS/m 7.3 7.1




R 23 4 7 pai 7K - =
L i KB ET (F = v 7 $7K) ,
=2

HE ERTRE| HBAL [H vl N

¥AKAH H.H 7.5 7.5
AL [BAkESz BF: 4> 1 10:35 16:35
A2 |BRAKALE — Py i
A3 | KM — = =
A |KAE n 11.19 11. 28
A6 | EaKEE m 0.7 0.8
AT BRI m 0.1 0.2
A8 &R C 23.0 26. 8
A9 |7kiE T 19.2 21.3
A0 [5M0 — RIRZLIB | YRIKES B
Al4|RR - me mE
ALS BAR AT cm 65 80
Bl |pH — — 7.3 7.2
B3 |cop 0.1 mg/L 4.0 3.3
B5 |DO 0.1 mg/L 8.9 8.7
G2 | 1.0 =3 7.7 6.1
X2 HER — mS/m 6.0 6.2




S 5, 23 £ 8 Jai 7K = R 7=
FEI4 KEJNFU B (F = > 7 87K)
S 4

THE EETEE B B i "

KA A H.H 8.2 8.2
Al |FEKERZ) B 10:35 16:35
A2 |BRAKNLE — EiE o=
A3 | KR - = g
A4 |KkAE n 10. 82 11.11
A6 |2k n 0.5 0.7
AT |BUKIKEE m 0.1 0.1
A8 |5UR C 26. 2 26. 3
A9 |7kiE T 24.0 24.0
Al0 |44 — | WREFE | RERE
Al4|ER — e mE
ALG LWERE cm 100< 100<
B1 |pH — — 7.4 7.4
B3 |COD 0.1 mg/L 2.2 2.5
B5 |DO 0.1 meg/L 8.3 9.0
G2 |BE 1.0 E 2.1 2.3
X2 EER — mS/m 8.6 7.2




o gk 23 & 9 H & X B OO B R
EHPA  KEIEBF (T = v 7 5AK)

R4

EHH EETRE| B | # ”

KA B H.H 9.6 9.6
Al KRR BF: 4> | 10:35 16:35
A2 |BRAKALE — i R
A3 | R - B i
A 7KDL ! 11.13 |. 11.16
A6 | EIKIE m 0.6 0.6
AT |BEAKAKEE m 0.1 0.1
A8 | &R C 24. 8 26.2
Ag KR C 21.8 21.8
A10 |5MEL — | BRET | KAk
Al4|BE — fER HER
AL |BRE cn 100< 100<
B1 |pH — — 7.4 7.4
B3 |COD 0.1 mg/L 3.1 3.0
B5 |DO 0.1 mg/L 8.6 8.7
G2 |EE 1.0 E 2.9 3.1
X2 |HEE — nS/m 6.7 | 6.7




YW Bk 23 4 10 gal KB R Bk
R4 N (F > 7 5K)
4

EHH ERETRE] CBAL B it "

£k B ' A. A 10.4 10. 4
Al |7k e B4 | 10:35 16:35
A2 |[BEKALE — KR i
A3 |FfE — i3 i
A4 |7KAr m 10. 92 11.27
A6 | kR m 0.5 0.7
AT [HRAKIKIEE m 0.1 0.1
A8 |&UR C 23.0 22. 1
A9 |7KiR C 18.1 19.5
A10 |41 — | RS | RS
Al4|BE — R R
ALG B cm 100< 100<
Bl |pH — — 7.5 7.4
B3 |COD 0.1 mg/LL 1.7 2.4
B5 [DO 0.1 mg/L 10. 0 9.9
Go [ 1.0 E <1.0 1.7
X2 [EE®R - mS/m 7.6 6.7




W Bk 23 &E 11 R R

FEI4 KNEJIFDIEBERT (F = v 7 §K)

HHE e TFRE| B B A y

kA B A 11.1 11.1
AL [BEKBEZ [ 10:35 16:35
A2 [BKNLE | V¥ R
A3 |Ff& — i3 i
AL |7k Az m 10. 83 11. 09
AB |k m 0.4 0.6
AT [BRAKIE m 0.1 0.1
A8 |KUR °C 17.0 20. 5
A9 kiR C 16. 1 17.5
A10 |54 — | RS | ERE
Al |85 — mE R
Al | iR cm 100< 100<
Bl |pH — — 7.4 7.5
B3 |coD 0.1 mg/L 1.9 2.4
B5 |DO 0.1 ng/L 10. 0 10. 4
G2 1B 1.0 E 1.1 2.9
X2 EER — nS/m 8.2 8.0




23 12 gal /= . -
FEI4 ABJIFDNEBERT (F = 7 8K)
R4

HH ERTRE| B |3 il y

KA R H. B 12. 6 12. 6
Al R BF:4> | 10:35 16:35
A2 | BKALE - EE iy
A3 | KM — i ]
A4 |7k Az m 10. 83 10. 98
A6 | 2KEE m 0.3 0.5
AT [k m 0.1 0.1
A8 KR T 10.0 11.0
A9 |KiR C 11.6 11.7
A10 |41 — | ¥EEERE | ERS
Al4 [ RE - i3y R
Alb [BARSE cm 100< 100¢<
BL |pl — — 7.5 7.4
B3 |COD 0.1 mg/LL 2.2 2.4
B5 |DO 0.1 mg/L 10. 8 10.9
G2 |18 1.0 3 1.7 1.7
X2 |EER — mS/m 7.6 7.1






